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G =0y =N 978220 _ 61 h3401pa
W 1.603x10
r =My _3873mPa
WP
n, =% B 55 420 ~5.806 ;
o ————x61.034
e ™  0.75x18
n = K’*l =— 88240 =43.315;
—Lr ————x3.873
e ™ 0.73x18
n_n -
N=——2—C_=5755>3; HiieomEaR.
n2 +n?

MATLAB 24T P10 T B :
ll=input ("IHMAN 11 BE (BAim) ') ;
12=input ("HFMIAL2HME CAfim) @ ') ;
13=input ("IERMALIHME (BAAm) @) ;
a=input ("iHFHFAaE (RAm) ') ;
b=input ("THMAbIME (Ffim) : ') ;
R=input ("THEMARMIME (FBfim) ') ;
theta=input ("iFfi AthetalfH (FAdu) ') ;
n=input ("WEHWAnPME (BA7r/min) ') ;
P=input ("IHRAPIME (Ffikw) :');
alpha=input ("IEMAd/DIME (A1) ') ;
FHy=input ("WEHIAFHYAE (FAAIND @ ') ;
FHz=input ("VEHIAFHzFE (FALAIND @ ') ;
Me=9549*P/n
Ft=Me/R
Fr=Ft*tan (20/180*pi)/cos (10/180*pi)
FEy=Ft*sin (theta/180*pi)-Fr*cos (theta/180*pi)
FEz=Ft*sin (theta/180*pi)+Fr*cos (theta/180*pi)
FAy= (FHy* (13+b) ~a*FEy) / (11+12)
FCy=- (FEy* (11+12-a) +FHy* (11+12+13+b) ) / (11+12)
FAz=(FHz* (13+b)-FEz*a)/ (11+12)
FCz=- (FHz* (11+12+13+b)+FEz* (11+12-a))/ (11+12)
Mc=sqrt (((11+12) *FAy+FEy*a) *"2+ ((11+12) *FAz+FEz*a) "2)
W=sqrt (Mc"2+Me”2)/(1.5*10"8)
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D1=(32*W/ (pi* (1-alpha~4)))~(1/3)

E=2.1*10"11;

ml=13*(11+12-a)/ (11+12);

m2=FAy* (11+12-a) ;

m3=FAy* (11+12)+FEy*a;

m4=11+12-13;

m5=ml+ (13-ml)*2/3;

m6=m3*b/ (b+13) ;

m7=a* (11+12-a)/(11+12);
y1=0.5*m4*m2*2/3*ml+0.5*a* (m3-m2) *m5+0.5* (m1+13) *a*m2+0.5*13* (m3-m6) *

13*%2/3+13* (m3-m6) *13*0.5
nl=FAz* (11+12)+FEz*a;
n2=FAz* (11+12-a);
n3=nl*b/ (b+13);
y2=0.5*m4*n2*2/3*ml+a*n2* (m1+13) /2+0.5%a* (nl-n2)* (2*13-ml) /3+...
13*n3*13*0.5+0.5*13* (n1-n3) *2/3*13
y3=sqrt (y1l"2+y2"2)
I=y3/(3.3*10"(-4) *E) ;
D2=(64*I/pi/ (l-alpha”4))"0.25
yv3=0.5*m4*m7*m2*2/3+1/3*m7*0.5%a* (m3-m2) +m2*a*m7*0.5
v4=0.5*m4*m7*2/3*n2+0.5*m7*n2*a+0.5%a* (n1l-n2)*m7*1/3
y5=sqrt (y372+y4"2)
I1=y5/(3.5*10" (-4) *E) ;
D3=(64*I1/pi/ (1-alpha”4))"0.25
yv6=0.5*m2*m4+ (m2+m3) *a*0.5
y7=0.5*md*n2+ (nl+n2) *a*0.5
y8=sqgrt (y6"2+y7"2)
I2=y8/(E*2.8*10"(-3));
D4=(64*I2/pi/ (1-alpha”4))"0.25
Zl=max (D1,D2);
Z2=max (D3, D4) ;
disp (' HERSRL LN BT A )
D=max (Z1,72)
I3=pi*D"4* (l-alpha”4) /64

x1=-FEy*a*11* ((11+12)"2-11"2-a"2)/(6*(11+12))
x2=-FEz*a*11* ((11+12)"2-11"2-a"2)/(6* (11+12))
x3=FHy* (13+b) *11* ((11+12)"2-11"2)/(6* (11+12))
x4=FHz* (13+b) *11* ((11+12)"2-11"2)/(6* (11+12))
x5=x1+x3
x6=x2+x4

x7=sgrt (x5°2+x6"2)
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fo=x7/(E*I3)
1f (fb<0.5%10" (-4))
disp (" UEHNE R ")
else
disp ("' LHl R E Rl )
end
disp ("% FRBATI T IRERAL ")
W=D"3*pi* (l-alpha”4) /32
M=sqrt (m2°2+n2"2) ;
sigma=M/W/10"6
tau=Me/ (2*W) /1076
gl=354.375/sigma
g2=167.745/tau
g3=gl*g2/sqrt (gl"2+g2"2)
if (g3>3)
disp (' EALIH LI TR ER )
else
disp ("EACANHE RS R ER )
end
h1=11%12/(11+12)
h2=0.5*11*h1*2/3*h1+0.5%12*h1*h1%*2/3
z=5*10"(-5) ;
FBy= (x5-z*E*I3) /h2
FBz=(x6-z*E*I3) /h2
FAy= (FHy* (13+b) —a*FEy-FBy*12) / (11+12)
FCy=- (FHy* (11+12+13+b) +FEy* (11+12-a) +FBy*11) / (11+12)
FAz=(FHz* (13+b) -a*FEz-FBz*12) / (11+12)
FCz=- (FHz* (11+12+13+b) +FEz* (11+12-a) +FBz*11) / (11+12)
Q=FBy*11/ (FAy+FBy)
P=2*Q-11
R=FAy*m4+FBy* (12-a)
jl1=FAy*11*0.5*11/m4*ml*2/3+ (R+FAy*11)*0.5* (m4-P) *...
((m4-P)*2/3+P) *ml/m4-FAy*11* (m4-P)* ((m4-P) *0.5+P) *ml/mé+. ..
0.5* (m3-R) *a* (2*a/3+m4) *13/ (11+12)+R*a* (0.5*a+m4) *13/ (11+12) +. ..
(13+b) *m3*0.5* (13- (13+b) /3)
R1=FAz*m4+FBz* (12-a)
wl=11+12;
w2=FAz*11;
w3=12-a;
J2=0.5*11*w2*11/wl*13+w2*w3*13* (11+0.5*w3) /wl+0.5*w3* (R1-w2) *13*...

(11+2*w3/3) /wl+R1l*a* (m4+0.5%a) *13/wl+0.5%a* (n1-R1) *13* (m4+2*a/3) /wl+.
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nl*0.5*13* (13- (13+b) /3)
§3=sqrt (§1°2+32"2)
I14=93/(3.3*10" (-4) *E) ;
D5=(64*TI4/pi/ (1-alpha”4))~0.25
W=pi*D573* (1-alpha”~3) /32
M=sqrt (R*2+R1"2)
sigma=M/W/10"6
tau=0.5*Me/W/10"6
nsigma=420*0.75*1.8/1.6/sigma
ntau=240*0.73*1.8/1.88/tau

n=ntau*nsigma/sqgrt (ntau”2+nsigma”2)

if (n>3)

disp ("R TT IR EK )
else

disp (' AN TT IR )
end

MR N: >> cllxkes]
EEA 1L FME (BALm) :0.15
HiA 12 FE (BEALm) :0.51
HEIA I3 FME (BEALm) :0. 14
B a FME (BBAZm) :0.12
HEIA b FME (AL m) :0.16
HIA RPME (BBALm) :0.12
THHIA theta BJME (AL du) :45
TEHA n FM{E (BAL r/min) :400
BHIA P ME (BALKW) :5.2
HHIA d/D HME (BHL 1) :0.65
BRI Fly B{E (BERALN) 14000
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Ha N FHz B{E (AL N) 12400
Me =124. 1370

Ft =1.0345e+03
Fr =382. 3265

FEy =461. 1386
FEz =1.0018e+03
FAy =1.7343e+03
FCy =-6. 1955e+03
FAz =908. 7582
FCz =—4. 3106e+03
Mc =1.3994e+03
W =9. 3662¢-06

D1 =0. 0488

yl =44. 1238

y2 =23. 9551

y3 =50. 2071

D2 =0. 0651

y3 =21.9727

y4 =11. 6924

y5 =24. 8900

D3 =0. 0538
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y6 =371. 6937
y7 =200. 2334

y8 =422. 1962

D4 =0. 0650

B SERA R S BRI
D =0. 0651

13 =7. 2449¢-07

x1 =—0. 8357

x2 =—1. 8156

x3 =18. 7773

x4 =11. 2664

x5 =17. 9416

x6 =9. 4508

x7 =20. 2785

fb =1. 3329e-04

WA e e S

BT ORBEAT I8 55 5 AL
W =2.2256e-05

sigma =47. 5072
tau =2. 7888
gl =7.4594
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HMRFEM B 2 R vt

g2 =60. 1486

g3 =7.4027

E Ab3 B R 57 5B B R
hl =0. 1159

h2 =0. 0030

FBy =3.4965e+03
FBz =623. 7608
FAy =-967. 4727
FCy =-6.9901e+03
FAz =426. 7612
FCz =—4. 4524e+03
Q =0.2074

P =0. 2648

R =860. 5342

j1 =32.8469

R1 =465. 1825

j2 =19. 6129

j3 =38. 2568

D5 =0. 0608

W =1.6027e-05

M =978. 2197
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BRSO R i

sigma =61. 0342

tau =3. 8726

nsigma =5. 8062

ntau =43. 3153

n =b. 7547

T R 57 5 oK

Bt MATLAB 2 K]

4\ MATLAB R2014a -
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== £ = i

=

&« EoE F C: b Users ¥ 248l + Documents + MATLAB v L
eSS ® | RIEEE - C\Users\=#NDocuments\MATLAB\clbckesj.m
£ cllxkesi.m +
# clbekesj.m 108 - T4=33/(3.3%10 (~4)%E); -0

108 - D5=(64*I4/pi/(1-alpha 1)) 0.25
0 pi*D5 3* (1-alpha’3)/32
s

114 51,
15 tau
16 — nentaw a/ (ntan’ 2+n: 2)
ur - if (n¥3)
18 — disp(( MEFFBEER)
else

20 — disp( FREEFEEET )

clixkesj.m (% A iz - end

TR ®

E= & 2ME 1 7.4027

Ha 0.1200 01200 €a

[ alpha 06500 06500 ¢ ENEERREEER

Hb 0.1600 01600 €

Ho 0.0651 00651 € bt -

o1 0.0488 00488 € -

o2 0.0651 00651 €

o3 00538 00538 € 0.1159

{H D4 0.0650 00650 €.,
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